13. Klassen 1. Schulaufgabe Analysis 2008/09

1. Dinax = R\{-2); Nullstellen: 4 - 4x*=0  x2=1 x5, = £1;
X3 =-2 ist Unendlichkeitsstelte (Pol] (Z.Ordn.ung}

2 f(x;=_4+16x+20: ~Hx+2P 4162420 —~A(x2+4x+A)+16x+20  -4x?+ 4
| (x+2y (x+2° G2y oy

oder Polynomdivision

x=—> 2= f{x)—>» -0 da (z—_+:l—2~] Asymptoten: x= -2 y:-_j— =—4
N=0, 1 -
3. () = (x+ 2)%(8x) — (4 - 4x9)2(x + DT _ (x + 2)(—8x) ~ (4 - 4x7)2 _
(x+2)° A (2P
—8x7—16x-§+8x? —16x-8§ irzen 4
= ' f'{x}=0 -16x—8=0 =05 y,=f(-0,5)=— —
(x4 2y x+2f {x} - LE ya=f }. 3
Nachweis: Umgebungsuntersuchung =2 f<x< f_GEJ <X
~16x—8
fiix)=— —— nd.| + 0 | - HOP{-0,5|4/3)
W= 3 P(-0,5|4/3)
s Gy teigtIHOP. [fallt

dyzmx+t m=f (-1)=8 (-1|0}einsetzen :0=—8+t t=8  y=Bx+8
5, Rest r{x}=16x+20=0 - 16x=-20 x=-1,25 y=—4 5§{-1,25]-4}

6. f{10)=—2,75
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